EREXILH XA O EEifReEt & TRi254F 5%
T25% 68 3BYERK [NHEAFED]

HT 44 5 GEARAR) Z WEAARR) [ AO#% GMEAARR)|] BARA  SNEA BHREE =
RIERT 778 (31) 728 (26) 1,506 (57) 593 34 5 632
HEE 132 (1) 132 (1) 264 (2) 121 0 2 123
LI = B4 T 1,791 (44) 1,766 (48) 3,557 (92) 1,372 51 13 1,436
LI BT 1,329 (46) 1,137 (44) 2,466 (90) 1,027 43 15 1,085
b Ly AT 293 (1) 276 (3) 569 (4) 268 1 3 272
E: 554 (7) 420 (9) 974 (16) 486 9 2 497
F #th BT 212 (3) 219 (2) 431 (5) 184 2 2 188
FA $ it 799 (23) 670 (28) 1,469 (51) 638 17 12 667
ch T 361 (21) 320 (13) 681 (34) 280 22 4 306
AHT 185 (3) 195 (6) 380 (9) 141 4 2 147
e N 569 (26) 445 (15) 1,014 (41) 430 26 6 462
£} 190 (1) 179 (4) 369 (5) 147 1 1 149
ES 794 (14) 707 (22) 1,501 (36) 605 10 10 625
Eicliil) 1,636 (62) 1515 (48) 3,151 (110) 1,304 63 13 1,380
i) 319 (24) 277 (32) 596 (56) 226 25 4 255
EEMT 1,310 (39) 1,128 (27) 2,438 (66) 953 52 7 1,012
75 AT 182 (3) 161 2) 343 (5) 142 3 1 146
i 386 (D 333 (3) 719 (10) 334 6 4 344
BhE 229 (3) 188 (0) 417 (3) 186 2 1 189
x 54 (0) 52 (0) 106 (0) 50 0 0 50
o= 135 2) 135 (2) 270 (4) 120 1 2 123
£EH 380 (8) 302 (10) 682 (18) 332 9 3 344
Y 272 (3) 257 (1) 529 (4) 221 3 0 224
LR 509 (17) 455 (19) 964 (36) 396 16 7 419
E RS 477 (4) 412 (8) 889 (12) 377 7 2 386
N 809 (23) 735 (26) 1,544 (49) 637 30 10 677
4 H 197 (7 163 (5) 360 (12) 173 7 1 181
5 1,025 (21) 952 (25) 1,977 (46) 808 18 15 841
BE#0 3,383 (1,293) 3,337 (1,199) 6,720 (2,492) 2,018 1,254 45 3,317
EBE 902 (16) 753 (16) 1,655 (32) 678 9 12 699
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ZRE XN XA O HEHFETR IER25% 589

T25% 68 3BYERK [(NHEAZET]

HT 44 5 EARAER) Z WEARR) [(AO#H WEIARER)] BARA SNEIAN  EREE =
L E[RET 1,536 (59) 1,282 (23) 2818 (82) 1,166 58 9 1,233
LER 750 (24) 638 (27) 1,388 (51) 553 29 2 584
REER 736 (7) 639 (11) 1,375 (18) 580 8 5 593
5h;E& BT 736 (3) 712 (5) 1,448 (8) 553 2 3 558
shi& 249 (2) 253 (6) 502 (8) 203 1 4 208
75 p ET 664 (13) 669 (17) 1,333 (30) 473 11 5 489
HTARHET 2,692 (53) 2,357 (53) 5,049 (106) 1,927 52 27 2,006
L HAET 2,601 (55) 2,401 (60) 5,002 (115) 1,939 55 27 2,021
J\*Y HHET 1,340 (36) 1,285 (49) 2,625 (85) 1,019 30 22 1,071
4 HHET 2,251 (30) 2,046 (58) 4,297 (88) 1,705 44 15 1,764
J\{BHT 2,746 (33) 2,574 (42) 5,320 (75) 1,944 25 15 1,984
& 3 BT 530 (4) 431 (5) 961 9) 352 6 2 360
=k 37,023 (2,072) 33,636 (2,000) 70,659 (4,072) 27,661 2,046 340 30,047
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